Subtracting Mixed Numbers

Name: Score:

Subtract these mixed numbers and answer in the lowest terms.

34 - 1y = S - 1+ =
62 - 3+ = 85 - 3 =
32 - 14 = 4k - 25 -
4L -2 - 2L - 3% =
35 - 12 - 52 - 275 =
50 -2 = 975 - 4= -
25 -3 - 23 - 14 =
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Answers

Subtract these mixed numbers and answer in the lowest terms.

3+ -1+ = 25 S - 14 = 4
62> -3+ = 3.5 85 - 3> = 5
32 -1+ = 2+ 4k - 25 = 1
44 - 15 = 3% 65 - 375 = 3
4L 23 = 24 2k - 38 =
32 - 15 = 1o 52 -2k = 0
50 .22 = 34 9L - 4% = 4
256 - 375 = -1+ 250 - 14 = 1
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